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RiEx BASEESHIER
% # A - BRHE By E il & & =

BRI 37,905,600 + 5,946, 418 43,852,018
EEAGHE 37,905, 600
EERE 5,946, 418
Z Ot R 1 37,905,600 x 42.86% ( 30% + (1 — 30%) ) 16, 246, 340
RHRE 43,852,018 + 16, 246, 340 60, 098, 358
—REEEE 60,098,358 x 53.85% (35% + (1 — 35%) ) — 1,323 32,361, 642
E Y13 60,098, 358 + 32, 361, 642 92, 460, 000
HEGEHELE 92,460,000 x 10.00% 9, 246, 000
EBEIH 92,460,000 + 9, 246, 000 101, 706, 000




BEARE REEEBEEHMER
& [ & - BRTE B 2 i € # W OE
B[R 43,852,018
= ES 43,852,018
EEEHUER 43,852,018
EEEHMER 37,905, 600
EEEHUER 37,188, 000
1 EBEWMER 24.00 1, 549, 500 37, 188, 000
A
et 662, 400
2 iTAHE 24.00 27, 600 662, 400
]
i - | 55, 200
3 i - it 1.00 55, 200 55, 200
=
EERE 5,946, 418
EHAMRE 362, 606
4 EHRARE 1.00 362, 606 362, 606
=
BEHERARE 725,212
5 EEBEARE 1.00 725, 212 725,212
=
XA DEERSLVEGRES 2, 400, 000




BERNRE REEEBEEHMER
& [ & - BRTE B 2 B € # W OE
6 XEEFEBEEHP L VEGES 1.00 2, 400, 000 2, 400, 000
=
REW 61, 000
T EBERERE 1.00 61,000 61,000
=
EEAEEEEHB S URRES 2,397, 600
8 XRASHREEHNBLIUVERES 1.00 2,397, 600 2,397, 600




RER-TEIT/ Svr—o EAEEREHERS
E=
B EBESHELE 1B%yY
% # B - AR By % B B ff S = w =
CERNE HER (A)
A 0.70 55, 200. 00 38, 640
ELENE HEF (C)
= 1.00 1,510, 860. 00 1,510, 860
& it {E%8:H :1.008 1, 549, 500. 00 1, 549, 500
iS5 :2
L% Tat 1EH Y
2 # 1B - AR By 8 B B %8 £ ® =
CERNE HER (A)
A 0.50 55, 200. 00 27,600
& it YE%8EH - 1.00[E 27, 600. 00 27, 600
BS:3
G - s 124y
% # R - AR Bfy % B B ff %8 = w =
EERME e (A)
A 1.00 55, 200. 00 55, 200
& it {EZ8EH - 1.00K 55, 200. 00 55, 200
=:4
2 EHARE B
2 # 1B - AR By % B B %8 £ % =
EBARE
= 1.00 362, 606. 00 362, 606
& B E%8EH - 1.00K 362, 606. 00 362, 606




RER-TEIT/ Svr—o EAEEREHERS
ES:5
2 BERERARE EE
% o R - AR B g B ff %8 = i
EHMEREE
= 1.00 725,212.00 725,212
& it YEZEEH - 1. 00K 725, 212. 00 725,212
BES:6
2 XEAEDEENS L VERES B
2 # 1B - AR Bif B B % 3 I
SA4 Ny 1. 5L
= 1.00 2,400, 000. 00 2,400, 000
& it E%8EH - 1.00K 2,400, 000. 00 2, 400, 000
&5 :17
B LBRERE 124y
% o] B - AR B 2 B ff % = i
EBERERE
= 1.00 61, 000. 00 61,000
& it E%8EH - 1.00K 61, 000. 00 61, 000
=:8
LW EHEASHEEENSLUBRES B
% o R - AR B g B ff %8 = i
=4
= 1.00 2,397, 600. 00 2,397, 600
& B {EZ8H - 1.00K 2,397, 600. 00 2,397,600




